yclenum {run == 8132}

deltal3_11X12X4eX:c)

alpha46_4eY4aY:cyclenum {run == 8132}

alphal3_4eX4aX:cyclenum {run == 8132}

10455 10455.5 10456
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segment:cyclenum {run == 8132}

run:cyclenum {run == 8132}

yclenum {run == 8132}
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usl_4aX:cyclenum {run == 8132}

-70.4

-70.6

-70.8

-71.2

-71.4

-716F

-71.8F

10454 10454.5 10455 10455.5 10456
cyclenum

usl_4eY:cyclenum {run == 8132}

16
15.8F
156 F
15.4
15.2F

15F

148F

B S N T B B
10454 10454.5 10455 10455.5 10456
cyclenum

-37.5

-38.5

usl_4aY:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

usl_11X12X:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

I 6

55

usl_4eX

8134

3133.5

8133

3132.5

8132

3131.5

8131

3130.5

8130

usl_4eX:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

run:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum




-117

-117.5

-118

-118.5

-119

24

usi_4c

235

22

usr_4aX:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

usr_4eY:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

usr_say
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usr_4aY:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

usr_11X12X:cyclenum {run == 8132}

-39.5

10454 10454.5 10455 10455.5 10456

cyclenum

I170.2
170
169.8
169.6
169.4
169.2
169
168.8
168.6
168.4
168.2

168

8134
3133.5
8133
3132.5
8132
3131.5
8131
3130.5

8130

usr_4eX:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

run:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum




31264
5126.2F
16126 |
5125.8F

5125.6F

5125.4
5125.2

16125

5124.8F
5124.6F
5124.4 F

5124.2F

3198.2

3198.4
3198.6 F
3198.8 F
-3199F
3199.2 F

3199.4 F

3199.6

3199.8 F
-3200F

3200.2 F

3200.4

usl_coill:cyclenum {run == 8132}

10454 10454.5 10455 10455.5
cyclenum

usl_coil6:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

2317.8

2317.6

2317.4 F
2317.2 F

2317F

2316.8
2316.6

2316.4

2316.2
2316

2315.8 F

2315.6

3266.4

3266.2

3266 |

3265.8

3265.6

3265.4

3265.2

3265

3264.8

3264.6

3264.4F

3264.2

usl_coil3:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

usl_coil7:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

5568.5

5568

5567.5

5567

5566.5

8134

3133.5

8133

3132.5

8132

3131.5

8131

3130.5

8130

usl_coil4:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

run:cyclenum {run == 8132}
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usr_coill:cyclenum {run == 8132}

4479.5

14480

4480.5

4481.5

10454

1
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54.

1
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1
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1
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L
55.5 10456
cyclenum

usr_coil6:cyclenum {run == 8132}

3355.5

—-3356

3356.5

-3357

3357.5

10454

1
104!

54.

L1
10:

1
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1
104!

L
55.5 10456
cyclenum

1970.5

-1971

1971.5

-1972

1972.5

34669

4668.5

34668

4667.5

34667

usr_coil3:cyclenum {run == 8132}

L1
10456
cyclenum

1 1 1 1
10454 10454. 10455 10455.

usr_coil7:cyclenum {run == 8132}

L1
10456
cyclenum

1 1 1
10454. 10455 10455.

1
10454

5748

5747.5

5747

5746.5

5746

8134

3133.5

8133

3132.5

8132

3131.5

8131

3130.5

8130

usr_coil4:cyclenum {run == 8132}
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run:cyclenum {run == 8132}
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-114

-114.5

-115
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-116

-220.5

-221
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-222

-222.5

4aX_coill:cyclenum {run == 8132}

10454

1
104!

54.

1 1
10455

1 L
10455.5

L
10456
cyclenum

4eX_coill:cyclenum {run == 8132}

10454

1
104!

54.5

10455

10455.5

10456
cyclenum

4dA_LUIS
=
o

145

14

135

13

1-21.5

-22.5

-23.5

4aX_coil3:cyclenum {run == 8132}

L L L L L
10454 10454. 10455 10455.! 10456
cyclenum

4eX_coil3:cyclenum {run == 8132}

L L L L L
10454 10454. 10455 10455.! 10456
cyclenum

4aX_coil7:cyclenum {run

== 8132}

1241.5

240.5

240

239.5

1 L1
10454 10454.5 10455

4eX_coil7:cyclenum {run

1
10455.

L
10456
cyclenum

== 8132}

256.5
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255.5
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289.5

4aY_coild:cyclenum {run == 8132}

288.5

287.5

265

L L METETE BT
10454 10454 10455 10455.5 10456
cyclenum

4eY_coild:cyclenum {run == 8132}

1
10454 10454.5

10455 10455.5 10456
cyclenum

-121.5

-122

-122.5

-123

-123.5

-148.5

-149

-149.5

-150

-150.5

4aY_coil6:cyclenum {run == 8132}
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cyclenum

4eY_coil6:cyclenum {run == 8132}

i BT L L L
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1-37.2
-37.4
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-37.8

-38.2

1-29.5

-30.5

-31.5

4aY_coil7:cyclenum {run == 8132}
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cyclenum

4eY_coil7:cyclenum {run == 8132}
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-239.5

-240
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8.2

7.8

7.6

7.4

7.2

11X12X_coill:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum
11X12X_coil6:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

-86.2F

-86.4

-86.6

-518.5
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-520.5

11X12X_coil3:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456
cyclenum

11X12X_coil7:cyclenum {run == 8132}

10454 10454.5 10455 10455.5 10456

cyclenum

11X12X_coll4
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8134

3133.5

8133

3132.5

8132

3131.5

8131

3130.5

8130

11X12X_coil4:cyclenum {run == 8132}

10454

10454.5

10455

10455.5

10456
cyclenum

run:cyclenum {run == 8132}

10454
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cyclenum
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